
Distributed Exclusively by Ferguson, Stock Building Supply and Wolseley Canada
© 2013 Wolseley	 16160 0613

Parts for CP/BN/RB

PF5210

PF5210CP

No. Part Name Part No.
1-a Metal handle - cold A662507C

1-b Metal handle - hot A662507H

2 Screw (M5 * 6 mm L) A008103

3 Retainer nut A016002

4 Cartridge  PFA66D091N

5 Washer A016002

6 Seat A101000N

7 Spring A005000

8 Screw (3/16” - 24 * 7/16” L) A008083

9 Putty plate A011038NF

10 Locking nut A009007

11 Coupling nut A009016

12 Aerator A500219N

13 Pop-up plunger assembly A663121

14 Washer and nut A663122

15 Pop-up body A605222

16 Lift rod A025015

17 Lift rod strap A663521

18 Washer (inner) A200109

19 Washer (outer) A200009

20 Ball nut A009063

21 Spring clip A120030

22 Ball rod (6 - 5/ 16 L) A026004

23 Hex wrench (H 2.5 *  19 L mm * 53 L mm) A031000

Parts for CP/BN/RB

© 2007 Wolseley 1388  10/07

Parts Breakdown

Lavatory Faucet 
4” Two Handle

Warranty and Codes
Please call (888) 328-2383 for parts, service, and warranty. This 
product comes complete with installation, operating, care and 
maintenance instructions. All PROFLO faucets carry a limited 
warranty. This product meets ANSI: A112.18.1M.

13.

14.

15.

16.

18.
19.

20.
21.22.

17.

11.

10.

9.

8.

5.

6.

7.

4.

3.

23.

12.

2.

1-a.
1-b.

PF5210

PF5210CP

No. Part Name Part No.
1-a Metal handle - cold A662507C

1-b Metal handle - hot A662507H

2 Screw (M5 * 6 mm L) A008103

3 Retainer nut A016002

4 Cartridge  PFA66D091N

5 Washer A016002

6 Seat A101000N

7 Spring A005000

8 Screw (3/16” - 24 * 7/16” L) A008083

9 Putty plate A011038NF

10 Locking nut A009007

11 Coupling nut A009016

12 Aerator A500219N

13 Pop-up plunger assembly A663121

14 Washer and nut A663122

15 Pop-up body A605222

16 Lift rod A025015

17 Lift rod strap A663521

18 Washer (inner) A200109

19 Washer (outer) A200009

20 Ball nut A009063

21 Spring clip A120030

22 Ball rod (6 - 5/ 16 L) A026004

23 Hex wrench (H 2.5 *  19 L mm * 53 L mm) A031000

Parts for CP/BN/RB

© 2007 Wolseley 1388  10/07

Parts Breakdown

Lavatory Faucet 
4” Two Handle

Warranty and Codes
Please call (888) 328-2383 for parts, service, and warranty. This 
product comes complete with installation, operating, care and 
maintenance instructions. All PROFLO faucets carry a limited 
warranty. This product meets ANSI: A112.18.1M.

13.

14.

15.

16.

18.
19.

20.
21.22.

17.

11.

10.

9.

8.

5.

6.

7.

4.

3.

23.

12.

2.

1-a.
1-b.

PFWS5210CP

Lavatory Faucet
4" Two Handle  
PFWS5210

Parts Breakdown

Warranty and Codes

This product comes complete with installation, operating, care and maintenance instructions. 
This PROFLO faucet carries a limited lifetime warranty when installed in residential applications. 
The warranty is five years in commercial applications. This product meets ANSI: A112.18.1M. 
*Compliant with lead content requirements of US Senate Bill S.3874




